MAT (Miller Analogies Test) Practice Questions #4

Answers

1. Choice (A)is correct. (1:2,3:4) A devotee is a follower; a jubilee is an anniversary.

2. Choice (C) is correct. (1:3,2:4) In Canada, mountie is a name for a police officer; in the U.K.,
constable is a name for a police officer.

3. Choice (B) is correct. (1:2,3:4) Air travels through the larynx, trachea, bronchus, and bronchiole, in
that order.

4. Choice Dis correct. (1:3,2:4) Remunerative and lucrative are synonyms; annulment and
defeasance are also synonyms.

5. Choice (A) is correct. (1:2,3:4) Salute and toast are synonyms; money and bread are also
synonyms.

6. Choice (C) is correct. (1:3,2:4) Invisible Man and Gulliver’s Travels are novels.

7. Choice (B) is correct. (1:2,3:4) Hydrogen is the element with the lowest atomic number;
ununoctium is the element with the highest atomic number. Challenger Deep is the lowest natural
point on Earth; Mount Everest is the highest point on Earth.

8. Choice (D) is correct. (1:3,2:4) A goal is the unit of scoring in hockey; arun is the unit of scoring in
baseball.

9. Choice (A) is correct. (1:3,2:4) Alluring and inviting are synonyms; disenchanting and disgusting
are also synonyms. Both pairs of words are antonyms to each other.

10. Choice (C)is correct. (1:3,2:4) 130 — 30% = 130 — 39 = 91. 100 + 30% = 100 + 30 = 130.

11. Choice (B)is correct. (1:2,3:4) Dates and apricots are drupe fruits; oranges and grapefruits are
citrus fruits.

12. Choice (A) is correct. (1:2,3:4) English and French are official languages of Canada; Cantonese
and Mandarin are official languages of China.

13. Choice (D) is correct. (1:3,2:4) A conjunction connects; a preposition establishes relation.

14. Choice (C) is correct. (1:2,3:4) In mathematics, # means not equal to; = means approximately.

15. Choice (B) is correct. (1:3,2:4) Basi is a type of wine; basic refers to something with a high pH.

16. Choice (A) is correct. (1:3,2:4) Blair and Thatcher were prime ministers of the U.K.; Pierce and Polk
were presidents of the U.S.A.

17. Choice (D) is correct. (1:2,3:4) Kehaar and Tweety are fictional birds; Tigger and Shere Khan are
fictional tigers.

18. Choice (C) is correct. (1:3,2:4) Osteology is the study of bones; heliology is the study of the sun.

19. Choice (B) is correct. (1:3,2:4) An iris is a plant; a pupil is a student.

20. Choice (D) is correct. (1:3,2:4) The ankh is a symbol of life; the ichthys is a symbol of Christianity.

21. Choice (A) is correct. (1:2,3:4) When spelled, 3 and 2 both start with T; 6 and 7 both start with S.

22. Choice (B) is correct. (1:3,2:4) Antimatter and matter counteract each other; an antidote
counteracts a poison.

23. Choice (C)is correct. (1:2,3:4) In music, legato is a mark of articulation; fortissimo is a mark of
dynamics.

24. Choice (D) is correct. (1:2,3:4) An anion has a negative charge; a cation has a positive charge.



25. Choice (A) is correct. (1:2,3:4) In mathematics, the mean is the average of a set; the mode is the
most common value of a set.



